
Advanced Math
4-6
(Day 1)

Graphs of Tangent and Secant 
Functions

Graph y = tanx

Domain:

Range:

Period:

Asymptote:

Start with the first non-negative 
asymptote when listing.



Graph y = secx

Domain:

Range:

Period:

Asymptotes:

Graph based off the cosx graph.  Where 
cosx = 0 there will be asymptotes in the 
secx.

graph:  y = 2tan(x +     )π2



Assignment:
Graph each of the following.

1)  f(x) = 6sin          + 1πx
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2)  g(x) = -2cos π
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3)  h(x) = tanx

4)  f(x) = -3sin π
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5)  f(x) = tan π
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6) f(x) = 2secx 


